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1
Triangle [image: image1.png]TR



 is similar to triangle [image: image2.png]MST



.  Which statement is not always true?

	1)
	[image: image3.png]




	2)
	[image: image4.png]L CG= LT





	3)
	[image: image5.png]




	4)
	[image: image6.png]LG =S







2
Given right triangle ABC with a right angle at C, [image: image7.png]


.  Given right triangle RST with a right angle at T, [image: image8.png]


.

[image: image9.png]B R
61°
log®
C T



 

Which proportion in relation to [image: image10.png]MABC



 and [image: image11.png]


 is not correct?

	1)
	[image: image12.png]




	2)
	[image: image13.png]




	3)
	[image: image14.png]




	4)
	[image: image15.png]






3
As shown in the diagram below, [image: image16.png]AB



 and [image: image17.png]oD



 intersect at E, and [image: image18.png]AC| BD



.

[image: image19.png]



Given [image: image20.png]MARC ~ ANBED



, which equation is true?

	1)
	[image: image21.png]




	2)
	[image: image22.png]




	3)
	[image: image23.png]




	4)
	[image: image24.png]






4
In the diagram below of isosceles triangle AHE with the vertex angle at H, [image: image25.png]CBLAR



 and [image: image26.png]FDLAR



.

[image: image27.png]



Which statement is always true?

	1)
	[image: image28.png]




	2)
	[image: image29.png]




	3)
	[image: image30.png]




	4)
	[image: image31.png]AD _BE
4B~ DF







5
In the diagram below of [image: image32.png]MABC



, X and Y are points on [image: image33.png]AB



 and [image: image34.png]AC



, respectively, such that [image: image35.png]msAYY = msR



. 

[image: image36.png]



Which statement is not always true?

	1)
	[image: image37.png]&l

Gl





	2)
	[image: image38.png]




	3)
	[image: image39.png]




	4)
	[image: image40.png](AVI(AE)

(ACHAX)







6
In the diagram below, [image: image41.png]


 and [image: image42.png]VR



 intersect at Z.  Segments XY and RS are drawn perpendicular to [image: image43.png]VR



 to form triangles XYZ and SRZ.

[image: image44.png]



Which statement is always true?

	1)
	[image: image45.png]




	2)
	[image: image46.png]




	3)
	[image: image47.png]




	4)
	[image: image48.png]5[5

S|







7
Triangles ABC and DEF are drawn below.

[image: image49.png]



If [image: image50.png]


, [image: image51.png]


, [image: image52.png]


6, [image: image53.png]


, and [image: image54.png]


, which statement is true?

	1)
	[image: image55.png]L CAB = LDEF





	2)
	[image: image56.png]




	3)
	[image: image57.png]MNABC ~ ADEF





	4)
	[image: image58.png]






8
In the diagram below, [image: image59.png]MNABC ~ ADEF



.

[image: image60.png]



If [image: image61.png]


 and [image: image62.png]


, which statement will justify similarity by SAS?

	1)
	[image: image63.png]


, [image: image64.png]12



, and [image: image65.png]




	2)
	[image: image66.png]


, [image: image67.png]10



, and [image: image68.png]




	3)
	[image: image69.png]36



, [image: image70.png]64



, and [image: image71.png]




	4)
	[image: image72.png]15



, [image: image73.png]20



, and [image: image74.png]






9
In the diagram below, [image: image75.png]


 and [image: image76.png]


.

[image: image77.png]



Which statement is not sufficient to prove [image: image78.png]MABC ~ AEDC



?

	1)
	[image: image79.png]AB| ED





	2)
	[image: image80.png]


 and [image: image81.png]




	3)
	[image: image82.png]3.6



 and [image: image83.png]




	4)
	[image: image84.png]3.0



, [image: image85.png]


, [image: image86.png]2.9



, and [image: image87.png]






10
Using the information given below, which set of triangles can not be proven similar?

	1)
	[image: image88.png]




	2)
	[image: image89.png]




	3)
	[image: image90.png]




	4)
	[image: image91.png]






11
In the diagram below, [image: image92.png]AD



 intersects [image: image93.png]BE



 at C, and [image: image94.png]AB|DE



.

[image: image95.png]



If [image: image96.png]f.6



 cm, [image: image97.png]34



 cm, [image: image98.png]


 cm, and [image: image99.png]


 cm, what is the length of [image: image100.png]AC



, to the nearest hundredth of a centimeter?

	1)
	2.70

	2)
	3.34

	3)
	5.28

	4)
	8.25



12
In [image: image101.png]ASCU



 shown below, points T and O are on [image: image102.png]SU



 and [image: image103.png]cU



, respectively.  Segment OT is drawn so that [image: image104.png]ZLOTU



.

[image: image105.png]



If [image: image106.png]


, [image: image107.png]QU -



, and [image: image108.png]


, what is the length of [image: image109.png]5T



?

	1)
	5.6

	2)
	8.75

	3)
	11

	4)
	15



13
In triangle CHR, O is on [image: image110.png]HR



, and D is on [image: image111.png]CR



 so that [image: image112.png]L H = ZRDO



.

[image: image113.png]



If [image: image114.png]


, [image: image115.png]


, and [image: image116.png]OH -



, what is the length of [image: image117.png]oD



?

	1)
	[image: image118.png]




	2)
	[image: image119.png]




	3)
	11

	4)
	15



14
In [image: image120.png]MABC



 shown below, [image: image121.png]ZACE



 is a right angle, E is a point on [image: image122.png]AC



, and [image: image123.png]ED



 is drawn perpendicular to hypotenuse [image: image124.png]AB



.

[image: image125.png]



If [image: image126.png]


, [image: image127.png]


, and [image: image128.png]


, what is the length of [image: image129.png]AR



?

	1)
	5

	2)
	6

	3)
	7

	4)
	8



15
In the diagram below, [image: image130.png]AF



, and [image: image131.png]DE



 intersect at C, and [image: image132.png]AD



 and [image: image133.png]FBE



 are drawn such that [image: image134.png]f5°



, [image: image135.png]m/CBR = 115°



, [image: image136.png]


, [image: image137.png]


, and [image: image138.png]


.

[image: image139.png]



What is the length of [image: image140.png]OB



?

	1)
	3.2

	2)
	4.8

	3)
	16.2

	4)
	19.2



16
In the diagram below, [image: image141.png]EF || HG



, [image: image142.png]


, [image: image143.png](=12



, [image: image144.png]Fi=14x+3



, and [image: image145.png]


. 

[image: image146.png]



What is the length of [image: image147.png]HI



?

	1)
	1

	2)
	5

	3)
	10

	4)
	24



17
The ratio of similarity of [image: image148.png]ABOY



 to [image: image149.png]AGRL



 is [image: image150.png]


.  If [image: image151.png]


 and [image: image152.png]


, then the length of [image: image153.png]GR



 is

	1)
	5

	2)
	7

	3)
	10

	4)
	20



18
Triangles RST and XYZ are drawn below.  If [image: image154.png]


, [image: image155.png]


, [image: image156.png]


, [image: image157.png]


, and [image: image158.png]


, is [image: image159.png]


 similar to [image: image160.png]


?  Justify your answer.

[image: image161.png]




19
In [image: image162.png]MADC



 below, [image: image163.png]EB



 is drawn such that [image: image164.png]


, [image: image165.png]


, [image: image166.png]


, and [image: image167.png]342



.

[image: image168.png]



Is [image: image169.png]MNABRE



 similar to [image: image170.png]MADC



?  Explain why.

20
To find the distance across a pond from point B to point C, a surveyor drew the diagram below.  The measurements he made are indicated on his diagram.

[image: image171.png]



Use the surveyor's information to determine and state the distance from point B to point C, to the nearest yard.

21
A flagpole casts a shadow 16.60 meters long.  Tim stands at a distance of 12.45 meters from the base of the flagpole, such that the end of Tim's shadow meets the end of the flagpole's shadow.  If Tim is 1.65 meters tall, determine and state the height of the flagpole to the nearest tenth of a meter.

22
The aspect ratio (the ratio of screen width to height) of a rectangular flat-screen television is [image: image172.png]16:9



.  The length of the diagonal of the screen is the television's screen size.  Determine and state, to the nearest inch, the screen size (diagonal) of this flat-screen television with a screen height of 20.6 inches.

23
In the model below, a support wire for a telephone pole is attached to the pole and anchored to a stake in the ground 15 feet from the base of the telephone pole.  Jamal places a 6-foot wooden pole under the support wire parallel to the telephone pole, such that one end of the pole is on the ground and the top of the pole is touching the support wire. He measures the distance between the bottom of the pole and the stake in the ground.

[image: image173.png]





Jamal says he can approximate how high the support wire attaches to the telephone pole by using similar triangles.  Explain why the triangles are similar.
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[image: image178.png]A8 _DE
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[image: image179.png]
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(1) AA; (3) SAS; (4) SSS.    NYSED has stated that all students should be awarded credit regardless of their answer to this question.
REF:
061724geo

10
ANS:
3

1) [image: image180.png]


  2) AA  3) [image: image181.png]


  4) SAS
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[image: image182.png].22 = 34.65
x=8.25
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[image: image183.png]


  [image: image184.png]15-4=11




REF:
011624geo

13
ANS:
3

[image: image185.png]


  [image: image186.png]11




REF:
081612geo

14
ANS:
2

[image: image187.png]el
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[image: image188.png]MNCFB ~ ACAD



  [image: image189.png][« gl
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  [image: image191.png]6.1(5)-6.5
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[image: image192.png]


  [image: image193.png]
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[image: image194.png]
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Yes, because of SAS.  [image: image195.png]AB _AE

4D~ AT
_41 56
342+56 41+822

50,512 = 50.512
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[image: image196.png]
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[image: image197.png]I~ GS
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[image: image199.png]


  [image: image200.png]D= +J36.6%+20.6% %42
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[image: image201.png]


  [image: image202.png]MABC ~ ANARD



 by AA.  [image: image203.png]ZDAR

AR



 because they are the same [image: image204.png]


.  [image: image205.png]LDEA

'BA



 because they are both right [image: image206.png]
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